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Instructions: Match each one of the properties to the equatlon that represents it. Use
- your textbook and your notes to help you do so, S

Commutative Property of Addition X+3=3+Xx
Commutative Property of 5+0=5
Multiplication

2+x)+3=2+(x +3)}

-Assdciativé Property of Addition

Associative Property of Multiplication % % =1

Identity Property of Addition 16 (3t + 4v) = 48t + 64v
Ideptity Property of Multiplication N2-3 =342 .
Inverse Propérty of Addition | 0.001- 1 = 0.001

Iﬁverse Property of Multiplication 7+(-7}=0

Distributive Property 2(xy) = (2x)y




